CITY OF CHICO, PUBLIC WORKS DEPARTMENT

CONTRACT - PUBLIC WORKS PROJECT

FRANKLIN CONSTRUCTION, INC. (Contractor)

IIG ROAD CONNECTION PROJECT (Project Title)

300-000-8800/50476-300-4150 (Budget Account Number)

THIS CONTRACT is executed on <u>AVAUST 12, 2021</u>, between the CITY OF CHICO, (City), and FRANKLIN CONSTRUCTION, INC., a California corporation, (Contractor).

ARTICLE I - WITNESSETH, that for and in consideration of the payments and agreements hereinafter mentioned, to be made and performed by City, Contractor hereby agrees to, at its own proper cost and expense, do all the work and furnish all labor and materials necessary to complete in a good, professional, and substantial manner, the public work indicated above and described in the documents listed below and made a part of this Contract by reference thereto, and the same as though set forth herein. Said documents are more fully described as follows:

- 1. NOTICE TO CONTRACTORS dated June 2, 2021.
- 2. SPECIAL PROVISIONS dated June 2, 2021.
- SPECIAL PROVISIONS entitled "IIG ROAD CONNECTION PROJECT" located at MERIAM PARK – NORTH OF LITTLE CHICO CREEK, CHICO, CALIFORNIA
- 4. PROPOSAL dated June 24, 2021.
- 5. CONTRACT PLANS dated: January 22, 2020

6. CONTRACT PLANS entitled "IIG ROAD CONNECTION - PROJECT" located at MERIAM PARK – NORTH OF LITTLE CHICO CREEK, CHICO, CALIFORNIA

Said public work is located in or near the City of Chico, County of Butte, State of California.

A requirement shown in any of said documents is as binding as though occurring in all. They are intended to be coordinated and to describe and provide for a complete work. Should it appear that the work to be done or any of the matters relative thereto are not sufficiently explained in said documents or should any of said documents appear to be conflicting, the Contractor shall apply to the City for such further explanation as may be necessary, and shall conform to them as part of the Contract. The decisions of the City as to the true meaning of any of said documents shall be final.

The work shall be performed in accordance with the directions and specifications set forth in the above-named documents and also in accordance with the following specifications entitled:

- 1. STATE OF CALIFORNIA, DEPARTMENT OF TRANSPORTATION, STANDARD SPECIFICATIONS AND STANDARD PLANS, DATED 2018
- 2. STATE OF CALIFORNIA, DEPARTMENT OF TRANSPORTATION, REVISED STANDARD SPECIFICATIONS, CURRENT VERSION
- 3. STANDARD PLANS OF THE CITY OF CHICO

Said specifications are hereby specifically referred to and by such reference made a part hereof.

ARTICLE II - Contractor agrees to receive and accept the prices set forth in Exhibit "A" attached hereto and by reference incorporated herein as full compensation for furnishing all labor and materials and doing all the work contemplated and embraced in this Contract; also for all loss or damage arising out of the nature of the work aforesaid, or from the action of the elements, or from any unforeseen difficulties or obstruction which may arise or be encountered in the prosecution of the work connected with the work; also for all expenses incurred by or in consequence of the suspension or discontinuance of work, and for well and faithfully completing the work, and the whole thereof, in the manner and according to the plans and specifications and the requirements of the Public Works Director under them.

ARTICLE III - City hereby promises and agrees with Contractor to employ, and does hereby employ, Contractor to provide the labor and materials and to do the public work according to the terms and conditions herein contained and referred to, for the prices aforesaid, and hereby contracts to pay the same at the time, in the manner, and upon the conditions in said GENERAL PROVISIONS, SPECIAL PROVISIONS, PROPOSAL, and SPECIFICATIONS as above set forth; and the said parties, for themselves, their heirs, executors, administrators, successors, and assigns, do hereby agree to the full performance of the covenants herein contained.

ARTICLE IV - It is further expressly agreed by and between the parties hereto that should there be any conflict between the terms of this instrument and the bid or proposal of said Contract, then this instrument shall control, and nothing herein shall be considered as acceptance of the said terms of said proposal conflicting herewith.

IN WITNESS WHEREOF, the parties hereto have executed these presents in the day and year first above written.

Franklin Construction, Inc.

211 Flume St., Ste 200

CITY/STATE/ZIP

By:

Project M.

CONTRACTOR'S LICENSE NO.

CITY OF CHICO, A Municipal Corporation

By: 1 Pink

Purchasing Officer*

*Bid awarded by Purchasing Officer per Section 3.20.060 of the Chico Municipal Code.

APPROVED AS TO FORM:

Vincent C. Ewing, City Attorney*

*Pursuant to The Charter of the City of Chico, Section 906(D)

REVIEWED AS TO CONTENT:

APPROVED AS TO CONTENT:

Brendan Ottoboni, Public Works Director, Engineering

^{*}Reviewed by Finance and Information Systems

EXHIBIT "A"

CONTRACTOR'S COMPENSATION SCHEDULE

FOR

IIG ROAD CONNECTION PROJECT (Project Title)

300-000-8800/50476-300-4150 (Budget Account Number)

Item	Description	Quantity	Unit	Unit Price	Total
1	Mobilization	1	LS	\$25,266.00	\$25,266.00
2	Funding Acknowledgement Sign	1	EA	\$2,000.00	\$2,000.00
3	Temporary Traffic Control	1	LS	\$14,000.00	\$14,000.00
4	Construction Survey	1	LS	\$26,000.00	\$26,000.00
5	Water Pollution Control Program	1	LS	\$7,500.00	\$7,500.00
6	Clearing and Grubbing	11	LS	\$5,000.00	\$5,000.00
7	PVC Plastic Pipe, 4" (Sewer Lateral)	1685	LF	\$45.00	\$75,825.00
8	PVC Plastic Pipe, 6" (Sewer Lateral)	70	LF	\$70.00	\$4,900.00
9	PVC Plastic Pipe, 8" (Sewer Main)	2144	LF	\$55.00	\$117,920.00
10	PVC Plastic Pipe, 10" (Sewer Main)	814	LF	\$59.00	\$48,026.00
11	Install Sanitary Sewer Manhole	13	EA	\$6,000.00	\$78,000.00
12	Minor Structure - Drainage Inlet - City Std. Type S-7	28	EA	\$5,500.00	\$154,000.00
13	Minor Structure - Drainage Inlet - City Std. Type S-7 (with Temp. Flat Grate)	2	EA	\$5,500.00	\$11,000.00
14	Minor Structure - Flat Grate Drainage Inlet	2	EA	\$5,000.00	\$10,000.00
15	HDPE Plastic Pipe, 12" (Type S, Storm Drain)	862	LF	\$53.00	\$45,686.00
16	HDPE Plastic Pipe, 15" (Type S, Storm Drain)	321	LF	\$89.00	\$28,569.00
17	HDPE Plastic Pipe, 18" (Type S, Storm Drain)	476	LF	\$90.00	\$42,840.00

Item	Description	Quantity	Unit	Unit Price	Total
	HDPE Plastic Pipe, 24" (Type S,				
18	Storm Drain)	123	LF	\$110.00	\$13,530.00
1.0	HDPE Plastic Pipe, 30" (Type S,			411000	
19	Storm Drain)	454	LF_	\$118.00	\$53,572.00
20	PVC Plastic Pipe, 4" (LS Sleeve) -	0.0	T.D.	0.62.00	Ø5 040 00
20	City Std. LS-14	80	LF	\$63.00	\$5,040.00
21	2" Street light Conduit	5190	LF	\$32.00	\$166,080.00
22	Street Light Conductor	4005	LF	\$8.00	\$32,040.00
23	Finish Roadway Subgrade	155000	SF	\$0.23	\$35,650.00
	Minor Concrete (Vertical Curb &				
24	Gutter)	5503	LF	\$27.00	\$148,581.00
25	Aggregate Base (Class II, 3/4")	3403	CY	\$51.00	\$173,553.00
26	Hot Mix Asphalt (3" HMA)	43	TON	\$99.00	\$4,257.00
	(6 22.22)		101,	\$33.00	\$ 1,20,700
27	Hot Mix Asphalt (4" HMA)	2240	TON	\$99.00	\$221,760.00
	Street Lights (Pull box, Base, Pole, &				
28	Luminaire)	25	EA	\$6,800.00	\$170,000.00
	8" Thermoplastic Pavement Stripe				
29	(White - Detail #38A)	237	LF	\$2.00	\$474.00
20	4" Thermoplastic Pavement Stripe	400	T 113	01.50	4505.00
30	(Detail #21, Yellow)	490	LF	\$1.50	\$735.00
	Thermoplastic Crosswalk and Stop Bar	200	CE	\$5.00	¢1 445 00
31	(Limit Line) Pavement Marking Thermoplastic Pavement Marking	289	SF	\$5.00	\$1,445.00
32	(Stop, Only)	220	SF	\$5.00	\$1,100.00
32	Thermoplastic Pavement Marking	220		Ψ3.00	\$1,100.00
33	(Type IV Left Arrow)	60	SF	\$5.00	\$300.00
	N-VE- 1		Ü.	\$2.00	\$500.00
34	Install Roadside Sign (One Post)	16	EA	\$375.00	\$6,000.00
	Install Street Barricade - City Std. S-				-
35	21	3	EA	\$1,650.00	\$4,950.00
36	Hydroseed	1	LS	\$6,750.00	\$6,750.00
					\$1,742,349.00

(Because some colored inks will not reproduce in copy machines, please use black ink to complete this Bid.)

PROPOSAL

BID COVER PAGE

CITY OF CHICO PUBLIC WORKS DEPARTMENT – ENGINEERING

For Construction Of

IIG ROAD CONNECTION PROJECT

MERIAM PARK - NORTH OF LITTLE CHICO CREEK, CHICO, CALIFORNIA

BUDGET ACCOUNT NUMBER: MAJGC/50476-000-4150

To THE CITY OF CHICO

The undersigned declares that he/she has carefully examined the location of the proposed work, that he/she has examined the contract plans and specifications, and read the accompanying General and Special Provisions, and hereby proposed to furnish all materials and do all the work required to complete the said work in accordance with said contract plans, if any, and specifications, and General and Special Provisions, for the unit prices or lump sum set forth in the following attached schedules.

The undersigned further agrees that in case of default in executing the required contract, with necessary bonds within ten (10) days, not including Sunday, after having received notice that the contract is ready for signature, the proceeds of the Bidder's guaranty accompanying his or her bid shall become the property of the City of Chico.

In case of discrepancy between the unit price and the total set forth for a unit basis item, the unit price shall prevail, except as provided in (a) or (b), as follows:

- (a) If the amount set forth as a unit price is unreadable or otherwise unclear, or is omitted, or is the same as the amount as the entry in the item total column, then the amount set forth in the item total column for the item shall prevail and shall be divided by the estimated quantity for the item and the price thus obtained shall be the unit price:
- (b) (Decimal Errors) If the product of the entered unit price and the estimated quantity is exactly off by a factor of ten, one hundred, etc., or one-tenth, or one-hundredth, etc. from the entered total, the discrepancy will be resolved by using the entered unit price or item total, whichever most closely approximates percentagewise the unit price or item total in the Department's Final Estimate of cost.

If both the unit price and the item total are unreadable or otherwise unclear, or are omitted, the bid may be deemed irregular. Likewise, if the item total for a lump sum item is unreadable or otherwise unclear, or is omitted, the bid may be deemed irregular unless the project being bid has only a single item and a clear, readable total bid is provided.

Symbols such as commas and dollar signs will be ignored and have no mathematical significance in establishing any unit price or item total or lump sums. Written unit prices, item totals and lump sums will be interpreted according to the number of digits and, if applicable, decimal placement. Cents symbols also have

no significance in establishing any unit price or item total since all such figures are assumed to be expressed in dollars and/or decimal fractions of a dollar. Bids on lump sum items shall be item totals only; if any unit price for a lump sum item is included in a bid and it differs from the item total, the items total shall prevail.

The foregoing provisions for the resolution of specific irregularities cannot be so comprehensive as to cover every omission, inconsistency, error or other irregularity which may occur in a bid. Any situation not specifically provided for will be determined in the discretion of the Department, and such discretion will be exercised in the manner deemed by the Department to best protect the public interest in the prompt and economical completion of the work. The decision of the Department respecting the amount of a bid, or the existence or treatment of an irregularity in a bid shall be final.

CITY OF CHICO BUSINESS LICENSE No.: 03521	
TAXPAYER IDENTIFICATION No.: 68-0174771	
LICENSED IN ACCORDANCE WITH AN ACT PROVIDIN	NG FOR THE REGISTRATION OF CONTRACTORS:
LICENSE No.: 567469	
SIGNATURE OF BIDDER:	l we
	ame or (if a firm or partnership), state the firm name and g the firm. If a corporation, state legal name of corporatio manager thereof.)
☐ Individual	☐ Partnership ☐ Other
NAME Franklin Construction, Inc. Clark Gardner, President/Manager	DATE 06/24/2021
Lori Corbin, Treasurer	
Jaime Prickett, Secretary	
BUSINESS ADDRESS 217 Flume Street, Suite 200	
Chico, CA 95928	
PHONE NO. 530-343-9600	
EMAIL: clark@franklinconstruction.com	

BID ITEM LIST

Item No.	Item Description	Unit	Estimated Quantity	Unit Price	Amount
1	Mobilization	LS	1	25,266	25, 266
2	Funding Acknowledgement Sign	EA	1	2000-	2000-
3	Temporary Traffic Control	LS	1	14000	14000
4	Construction Survey	LS	1	26000	26000
5	Water Pollution Control Program	LS	1	7500-	7500-
6	Clearing and Grubbing	LS	1	3000	5000
7	PVC Plastic Pipe, 4" (Sewer Lateral)	LF	1,685	45-	75,825
8	PVC Plastic Pipe, 6" (Sewer Lateral)	LF	70	70-	4900-
9	PVC Plastic Pipe, 8" (Sewer Main)	LF	2,144	55-	117,920
10	PVC Plastic Pipe, 10" (Sewer Main)	LF	814	59-	48,026
11	Install Sanitary Sewer Manhole	EA	13	6000-	78,000
12	Minor Structure - Drainage Inlet - City Std. Type S-7	EA	28	5500-	154,000
13	Minor Structure - Drainage Inlet - City Std. Type S-7 (with Temp. Flat Grate)	EA	2	5500-	11,000
14	Minor Structure - Flat Grate Drainage Inlet	EA	2	5000-	10,000
15	HDPE Plastic Pipe, 12" (Type S, Storm Drain)	LF	862	53-	45,686
16	HDPE Plastic Pipe, 15" (Type S, Storm Drain)	LF	321	89-	28,561- 42,840-
17	HDPE Plastic Pipe, 18" (Type S, Storm Drain)	LF	476	90 -	42.840
18	HDPE Plastic Pipe, 24" (Type S, Storm Drain)	LF	123	110-	13,530
19	HDPE Plastic Pipe, 30" (Type S, Storm Drain)	LF	454	118-	53,572-
20	PVC Plastic Pipe, 4" (LS Sleeve) - City Std. LS-14	LF	80	63-	5040-
21	2" Street light Conduit	LF	5,190	32-	166,080-
22	Street Light Conductor	LF	4,005	g-	32,040-
23	Finish Roadway Subgrade	SF	155,000	0 23	35,650-
24	Minor Concrete (Vertical Curb & Gutter)	LF	5,503	27-	148,581
25	Aggregate Base (Class II, 3/4")	CY	3,403	51-	173,553-
26	Hot Mix Asphalt (3" HMA)	TON	43	99	4257
27	Hot Mix Asphalt (4" HMA)	TON	2,240	99-	221,760
28	Street Lights (Pull box, Base, Pole, & Luminaire)	EA	25	6800 -	170,000 -
29	8" Thermoplastic Pavement Stripe (White - Detail #38A)	LF	237	2 -	474-
30	4" Thermoplastic Pavement Stripe (Detail #21, Yellow)	LF	490	150	735
31	Thermoplastic Crosswalk and Stop Bar (Limit Line) Pavement Marking	SF	289	5-	1445 -
32	Thermoplastic Pavement Marking (STOP, ONLY)	SF	220	5 ~	1100-
	Thermoplastic Pavement Marking (Type IV Left				
33	Arrow)	SF	60	5 -	300 -
34	Install Roadside Sign (One Post)	EA	16	375-	6000
35	Install Street Barricade - City Std. S-21	EA	3	1650-	4950-
36	Hydroseed	LS	1	6750-	6750-
				TOTAL	1,742,349-

In accordance with Title 49, Section 26.11 of the Code of Federal Regulations, and Section 4104 of the Public Contract Code of the State of California, as amended, the following information is required for each subcontractor who will perform work amounting to more than one half of one percent (0.5%) of the Total Base Bid or \$10,000 (whichever is greater). Photocopy this form for additional firms.

Subcontractor	Bid Item	Description of portion of subcontracted work	S Value of work	Contractor License Number DIR Reg Number
(Name and Location)	Numbers	• •		License Number
				DIR Reg Number
Name: WARDS CONCRETE INC.		concrete	8 275,374 50	348143
Address: 18939 NUT TREE LN	24			V V
ANDERSON, CA 96007	(PARTIAL)			1000005562
Name: COMMUNITY CONSTRUCT	1,7-11 MO	underground	\$604,45360	658031
Address: PO BOX 6414	15-21		0.1/10	
CHICO, CA 95927	(PARTIOL)			1'000512347
Name: HANKINS ELECTIMICAL	21-22	ELE CTRICAL	* 237,065	968523
Address: PO BOX 481	28		677,000	100327
CHICO, CA 95927	(PARTIAL			1000003369
Name: NORTHSTALL	4	SURVEYING	* 25,740-	N/A
Address 11 MISSIN RANCH BY	10	·	671710	
steloo chico ch asase	(PARTIA)			ch 14/12 100000144
Name: CHRISP COMPANY	1,3,	STRIPING, SIGNS, & BARRICADE	1 7 50	374600
Address: 1805 EAST BEAMER	29-35		\$20,710 50	371000
WOODLAND, CA 95776	(PARTIA)	.)	- '	1000000306
Name:				
Address:	1			
			L	

EQUAL EMPLOYMENT OPPORTUNITY CERTIFICATION

(THE BIDDER'S EXECUTION ON THE SIGNATURE PORTION OF THIS BID SHALL ALSO CONSTITUTE AN ENDORSEMENT AND EXECUTION OF THOSE CERTIFICATIONS WHICH ARE A PART OF THIS BID)

The bidder Franklin Construction, Inc. proposed subcontractor	orAll listed	hereby
certifies that he has X , has not, participated in a prev	ious contract or subc	ontract subject
to the equal opportunity clauses, as required by Executive Orders 2	10925, 11114, or 112	46, and that,
where required, he has filed with the Joint Reporting Committee, t	he Director of the Of	fice of Federal
Contract Compliance, a Federal Government contracting or admini	stering agency, or the	e former
President's Committee on Equal Employment Opportunity, all repo	orts due under the ap	plicable filling
requirements.		

Note: The above certification is required by the Equal Employment Opportunity Regulations of the Secretary of Labor (41 CFR 60-1.7(b) (1)), and must be submitted by bidders and proposed subcontractors only in connection with contracts and subcontracts which are subject to the equal opportunity clause. Contracts and subcontracts which are exempt from the equal opportunity clause are set forth in 41 CFR 60-1.5. (Generally only contracts or subcontracts of \$10,000 or under are exempt.)

Currently, Standard Form 100 (EEO-1) is the only report required by the Executive Orders or their implementing regulations.

Proposed prime contractors and subcontractors who have participated in a previous contract or subcontract subject to the Executive Orders and have not filed the required reports should note that 41 CFR 60-1.7(b) (1) prevents the award of contracts and subcontracts unless such contractor submits a report covering the delinquent period or such other period specified by the Federal Highway Administration or by the Director, Office of Federal Contract Compliance, U.S. Department of Labor.

PUBLIC CONTRACT CODE QUESTIONNAIRE

PUBLIC CONTRACT CODE SECTION 10285.1 STATEMENT

In accordance with Public Contract Code Section 10285.1 (Chapter 376, Stats. 1985), the bidder hereby declares under penalty of perjury under the laws of the State of California that the bidder has ____, has not ______ been convicted within the preceding three years of any offenses referred to in that section, including any charge of fraud, bribery, collusion, conspiracy, or any other act in violation of any state or Federal antitrust law in connection with the bidding upon, award of, or performance of, any public works contract, as defined in Public Contract Code Section 1101, with any public entity, as defined in Public Contract Code Section 1100, including the Regents of the University of California or the Trustees of the California State University. The term "bidder" is understood to include any partner, member, officer, director, responsible managing officer, or responsible managing employee thereof, as referred to in Section 10285.1.

Note: The bidder must place a check mark after "has" or "has not" in one of the blank spaces provided. The above Statement is part of the Bid. Signing this Bid on the signature portion thereof shall also constitute signature of this Statement. Bidders are cautioned that making a false certification may subject the certifier to criminal prosecution.

PUBLIC CONTRACT CODE SECTION 10162 QUESTIONNAIRE

In accordance with Public Contract Code Section 10162, the Bidder shall complete, under penalty of perjury, the following questionnaire:

Has the bidder, any officer of the bidder, or any employee of the bidder who has a proprietary interest in the bidder, ever been disqualified, removed, or otherwise prevented from bidding on, or completing a federal, state, or local government project because of a violation of law or a safety regulation?

		1	
Yes	No	\checkmark	

If the answer is yes, explain the circumstances in the following space. Provide additional pages as needed.

PUBLIC CONTRACT CODE 10232 STATEMENT

In accordance with Public Contract Code Section 10232, the Contractor, hereby states under penalty of perjury, that no more than one final unappealable finding of contempt of court by a federal court has been issued against the Contractor within the immediately preceding two year period because of the Contractor's failure to comply with an order of a federal court which orders the Contractor to comply with an order of the National Labor Relations Board.

Note: The above Statement and Questionnaire are part of the Bid. Signing this Bid on the signature portion thereof shall also constitute signature of this Statement and Questionnaire.

Bidders are cautioned that making a false certification may subject the certifier to criminal prosecution.

OPT-OUT FORM

Opt-Out of Payment Adjustments for Price Index Fluctuations

You may opt out of the Payment Adjustments for Price Index Fluctuations portion of the Special Provisions. If you elect to opt out of these provisions, complete this form. If you do not want to opt-out of these provisions, simply leave this form blank.

As described in Sections 9-1.07 of the Standard Specifications, <u>I opt out of the Payment Adjustments for Price Index Fluctuations for construction of:</u>

CITY OF CHICO

DEPARTMENT OF PUBLIC WORKS- ENGINEERING PROJECT

IIG ROAD CONNECTION PROJECT

BUDGET ACCOUNT NUMBER MAJGC/50476-000-4150

Print and sign your Name, fill out the date and firm name below to opt out of payment adjustment for price index fluctuations.

Name: Clark	Gardner, President	/ /	
SIGNATURE:	a	4	
DATE: 06/24/2	2021		
Firm/Compar	ny Name: Franklin Co	nstruction,	Inc.

NONCOLLUSION DECLARATION

NONCOLLUSION DECLARATION TO BE EXECUTED
BY
BIDDER AND SUBMITTED WITH BID

I am the	President	of	Franklin Construction, Inc.	the party
			st of, or on behalf of, any ur	
			corporation. The bid is gen	
			induced or solicited any other	
			ctly colluded, conspired, con	•
			efrain from bidding. The bid	_
			mmunication, or conference	
fix the bid price of the	e bidder or any other bide	der, or to fix a	ny overhead, profit, or cost	element of the
bid price, or of that o	f any other bidder. All sta	atements con	tained in the bid are true. T	he bidder has
not, directly or indire	ctly, submitted his or her	bid price or a	iny breakdown thereof, or t	he contents
thereof, or divulged i	nformation or data relati	ve thereto, to	any corporation, partnersh	ip, company,
association, organizat	tion, bid depository, or to	any member	or agent thereof, to effectu	ate a collusive or
sham bid, and has no	t paid, and will not pay, a	iny person or	entity for such purpose.	
joint venture, limited	liability company, limited	d liability part	a bidder that is a corporation nership, or any other entity, es execute, this declaration	hereby
l declare und	er penalty of perjury und	er the laws of	the State of California that	the foregoing is
	that this declaration is ex			
	hico California			

The undersigned declares:

BID SIGNATURE PAGE

Accompanying this proposal is Bidder's Bond
(NOTICE: INSERT THE WORDS "CASH(\$)," "CASHIER'S CHECK," "CERTIFIED CHECK," OR "BIDDER'S BOND," AS THE CASE MAY BE.)
in amount equal to at least ten percent of the total of the bid.
The names of all persons interested in the foregoing proposal as principals are as follows:
IMPORTANT NOTICE: If bidder or other interested person is a corporation, state legal name of corporation, also names of the president, secretary, treasurer, and manager thereof; if a co-partnership, state true name of firm, also names of all individual copartners composing firm; if bidder or other interested person is an individual, state first and last names in full.
Franklin Construction, Inc.
Clark Gardner, President/Manager
Lori Corbin, Treasurer Jaime Prickett, Secretary
Licensed in conformance with an act providing for the registration of Contractors,
License No. 567469 Classification(s) A
Addenda
This Proposal is submitted with respect to the changes to the contract included in addenda number/s 1 (Fill in addenda numbers if addenda have been received and insert, in this Proposal, any Engineer's Estimate sheets that were received as part of the addenda.) By my signature on this proposal I certify, under penalty of perjury under the laws of the State of California, that the foregoing questionnaire and statements of Public Contract Code Sections 10162, 10232 and 10285.1 are true
and correct and that the bidder has complied with the requirements of Section 8103 of the Fair Employment and Housing Commission Regulations (Chapter 5, Title 2 of the California Administrative Code). By my signature on this proposal I further certify, under penalty of perjury under the laws of the State of California and the United States of America, that the Noncollusion Affidavit required by Title 23 United States Code, Section 112 and Public Contract Code Section 7106; and the Title 49 Code of Federal Regulations, Part 29 Debarment and Suspension Certification are true and correct.
Date: 06/24/2021
Sign Clark Gardner, President Signature and Title of Bidder
Business Address 217 Flume Street, Suite 200, Chico, CA 95928
Place of Business 217 Flume Street, Suite 200, Chico, CA 95928
Place of Residence Chico, CA

IIG ROAD CONNECTION CITY BUDGET ACCOUNT #: MAJGC/50476-000-4150

ADDENDUM NO. 1

The contract plans and specifications for the above-noted project are modified as follows:

ITEM	PAGE(S)/SHEET(S)	DESCRIPTION OF CHANGE/INSTRUCTIONS
1	Bid Item List, page v Bid Item List, page P-3	 Revised Item 23 from "Roadway Fine Grading" to "Finish Roadway Subgrade". Revised Unit of Measure from CY to SF. Revised Estimated Quantity from 1,700 to 155,000. Replace pages shown at left with corresponding sheet
		numbers appended with "Addendum 1".
2	Section 19 Earthwork, page 36	 Revised Special Provisions to pertain to "finishing roadway subgrade" rather than "roadway excavation". Roadway excavation will be completed by others. Replace page shown at left with corresponding page
		numbers appended with "Addendum 1".
3	Section 64 Plastic Pipe, pages 43- 44	Revised Special Provisions Section 64-2.02B "Backfill".
		Replace pages shown at left with corresponding page numbers appended with "Addendum 1".
4	Section 77 Local Infrastructure, pages 52-54	 Revised Special Provisions Section 77-1.03D "Trench Backfill".
		Replace pages shown at left with corresponding page numbers appended with "Addendum 1".

ddendum 1 (this addendum) is part of the Contract Documents and must be submitted with the b	id
oposal.	

Signature of Bidder

Date

06/24/2021

DISTRIBUTION: BID GROUP

PublicPurchase.com Distribution